

## Republic of the Philippines CAVITE STATE UNIVERSITY Don Severino de las Alas Campus

www.cvsu.edu.ph

## INVITATION TO SUBMIT QUOTATION Supply and Delivery of Sports Equipment for CvSU Gentri Campus

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Sports Equipment for CvSU Gentri Campus" with an Approved Budget for the Contract (ABC) of One Hundred Thirteen Thousand Nine Hundred Three Pesos Only (PhP 113,903.00). Quotation received in excess of the ABC shall be automatically rejected at the opening.

Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
1.	set	AGILITY CONE Dimension: Ø 185 mm. Height 50 mm. Set of: 50 pieces, assorted colors, and holder. Weight: 0,25 Kg.	1	800.00	800.00
2.	unit	ARNIS BODY GEAR High-grade plastic visor; Synthetic leather, Branded foam padding	1	1,770.00	1,770.00
3.	pcs	ARNIS HEAD GEAR; Synthetic imported leather, imported lining materials, Paint-coated solid metal grills (4.2 cm & 5.2 cm)	1	4,200.00	4,200.00
4.	pair	ARNIS STICK cut 26–30 in (66–76 cm) in length, 0.75 to 1 in (1.9 to 2.5 cm) in diameter, and rounded at both ends.	2	450.00	900.00
5.	рс	BADMINTON NET 1.55 meters (5 feet 1 inch) high at the edges and should drop slightly to 1.524 meters (5 feet) at the center	1	1,200.00	1,200.00
6.	unit	BADMINTON RACKET overall length of 26.18"-26.77" (665-680 mm), head width from 8.66"-9.06" (220-230 mm), and a handle diameter of 1" (25.4 mm).	2	720.00	1,440.00
7.	рс	BADMINTON SCOREBOARD 4 digit flipping scoreboard	1	7,250.00	7,250.00
8.	set	BASE BAGS 18.75"L x 20.6" W / 10.75" pocket flap / 23" carrying strap Holds (6) Bases (8"x14", 16"x14", 14"x16", 15"x15" and any screw in style base up to 15"x15") or (4) 18"x18" Bases Holds (6) Pins (any size up to 2" x 6")	1	1,760.00	1,760.00
9.	рс	BASEBALL BALL 9 to 9.25 inches (229 to 235 mm) in circumference i.e. 2.86 to 2.94 inches (73 to 75 mm) in diameter, with a weight of 5 to 5.25 ounces (0.142 to 0.149 kg).	3	1,250.00	3,750.00
10.	рс	BASEBALL BAT shall not be more than 34" inches in length; nor more than 25% inches in diameter	5	1,700.00	8,500.00

11.	set	BASEBALL/SOFTBALL GLOVES range from 10.75-12 inches. Infield softball gloves usually range from 11.5-12.5	1	4,800.00	4,800.00
		inches.			
12.	рс	BASEBALL/SOFTBALL HELMET Hat Size 7 1/8 - 7 1/4, Head Circumference	1	1,700.00	1,700.00
		(Inches) 22 1/4" - 22 3/4"			
13.	рс	BASKETBALL BALL, MEN Size 7 basketballs measure 29.5" in circumference and have a standard weight of 22 oz.	2	3,500.00	7,000.00
14.	рс	BASKETBALL BALL, WOMEN Size 6 basketballs measure 28.5" and have a standard weight of 20 oz.	2	3,200.00	6,400.00
15.	рс	CATCHER'S BODY PROTECTOR Precision pad designed chest protector with high-density foam padding and over- the-shoulder harness for an enhanced fit. Adjust straps to the perfect fit more easily and keep both sides symmetrical in length.	1	1,800.00	1,800.00
16.	рс	CATCHER'S FACE MASK Traditional Style Steel Head Guard w/High Impact Absorption Foam Pad, for Adults and Kids, Support for Maximum Field Vision	1	1,700.00	1,700.00
17.	рс	CATCHER'S SHIN GUARD 10 Tine Ballast Fork - Long Handle · 301 Flux- Coated Electrode - 1-8" x 14" · 301 Flux- Coated Electrode - 5-32" x 14" · 8 Tine Ballast Fork.	1	2,500.00	2,500.00
18.	рс	JAVELIN THROW, MEN between 2.6 and 2.7 m (8 ft 6 in and 8 ft 10 in) in length and 800 g (28 oz) in weight,	1	3,500.00	3,500.00
19.	рс	JAVELIN THROW, WOMEN throw a javelin between 2.2 and 2.3 m (7 ft 3 in and 7 ft 7 in) in length and 600 g (21 oz) in weight.	1	3,500.00	3,500.00
20	рс	KICK BOARD Material: Density foam; Size: approx. 45x32x4 cm; Weight: about 95g;	1	300.00	300.00
21.	can	LAWN TENNIS BALL, 3 pcs/can 3 pcs/tube; Official Championship Tennis Balls, International Tennis Federation Approved	1	550.00	550.00
22.	рс	LAWN TENNIS NET height of 1.07 meters at the posts and 0.914 meters high in the center, and the standard width of the net is set at 12.8 meters between the posts.	1	3,970.00	3,970.00
23.	рс	MATS, BLUE Anti-Slip 0.6m 0.9m 7mm	5	995.00	4,975.00
24.	рс	PADDED HEAD GEAR Head Diameter; 580. Size: 7 1/4;	1	1,950.00	1,950.00
25.	рс	PADDED STICK, stix (25blue & 25red)	1	450.00	450.00
		PITCHER'S PLATE a rectangular slab of			
26.	set	white rubber, 61cm by 15cm.	1	1,980.00	1,980.00

27.	рс	SEPAK TAKRAW BALL, Rattan 12 holes and 20 intersections, must have a circumference measuring from 42 to 44 cm (16.5–17.3 in)	1	850.00	850.00
28.	рс	SEPAK TAKRAW BALL, TOURNAMENT TYPE Size: 5.5" (14 Cm), Weight: 180 Grams; Material: Synthetic with Rubber Padding	1	1,500.00	1,500.00
29.	рс	SEPAK TAKRAW NET Mesh size, 70mm single mesh. Thread, TW (twisted). Thread diameter, 2mm. Length, 6.72m. Height, 0.7m. Material, Polyethylene. Headband, White PES band.	1	3,500.00	3,500.00
30.	рс	SHIN GUARD Materials: Leatherette cover Mesh inner lining KIX Logo garter Strong hold hook-and-loop PE foam padding	1	950.00	950.00
31.	рс	SHOT PUT, men shot weighs 7.26 kg (16 pounds) and is 110–130 mm (4.3–5.1 inches) in diameter.	1	1,200.00	1,200.00
32.	рс	SHOT PUT, women 4-kg (8.82-pound) shot that is 95–110 mm (3.7–4.3 inches) in diameter.	1	950.00	950.00
33.	рс	SHOT SPOTS seven-foot diameter (2.135m) circle that has a 10cm high stop board at the front.	1	1750.00	1,750.00
34.	tube	SHUTTLE COCK 16 feathers with each feather 62 to 70 mm (2.4 to 2.8 in) in length, and the diameter of the cork is 25 to 28 mm (0.98 to 1.10 in).	1	1,600.00	1,600.00
35.	рс	SOFTBALL BALL 12 inches (30.5 cm) in circumference, weighing between 6.25 and 7 ounces (177 and 198 grams).	1	1,078.00	1,078.00
36.	tube	TABLE TENNIS BALL diameter of 1.57" (40 mm) and circumference of 4.94" (125.6 mm).	1	380.00	380.00
37.	рс	TABLE TENNIS RACKET average blade length of 6.7" (17 cm), blade width of 5.9" (15 cm), an overall length between 9.45"-10.25"	2	1,500.00	3,000.00
38.	рс	VOLLEYBALL BALL diameter of 8.15"- 8.39" (20.7-21.3 cm) and circumference of 22.59"-26.34" (65-67 cm).	2	5,200.00	10,400.00
39.	рс	VOLLEYBALL NET, nylon Volley-ball net, official size 9.5 x 1m with minimum 100mm nylon mesh, thread size minimum 2mm; nylon headband, sides and bottom	1	4,500.00	4,500.00
40.	рс	WHISTLE Referee's whistle, shatterproof plastic, food grade, assorted colours; with cord lanyard for hanging the whistle around the referee's	5	720.00	3,600.00
	1	•	тот	AL AMOUNT	113,903.00

<sup>2.</sup> Delivery Period: \_\_\_\_ calendar days from the receipt of P.O.

- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Procurement Office through mail, fax or email at the contact details listed below **on or before 5:00 PM** of **January 14, 2025.**

Address : Procurement Office, Administration Building

Cavite State University

Indang, Cavite

E-mail : procurementoffice@cvsu.edu.ph / rfqmain@cvsu.edu.ph

Telefax : (046) 889-6373

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

ROSELYN M. MARANAN

BAC Secretary, Goods and Consulting Services